
����������	��	
��	���
�����
��	�
�������	�	��������������	��������

�
���	
��	���������	��	
���
����������	��
�������	�����������
���

����

��������
������
��	 ������	�!�	
��	∀∀�	��#∃�	%�
���������	&∋∀&

��������	
������
�������	��������������������������
������������

��������������������� �����!��∀#
��������∃�������%������∀��∃�����∀�����&������������������∃�����&�����∋

���������	�
����
��������������

���������

��������	�
�������
������������
����
�������������
��������	��
���������	��������������
�����

���������
���
	����
�
�������������� ��������
��
�����!�
�∀�������∀��
��#�	�
��	
�������������
��∃����
��
����
������	��
	��	������
�
����
��
����
�������%�&��	��
�
�
������	�
������
∋
(����
���	�
��
�����������
�����
�%�&��	��
��
���
����������
����������	�����������������
�
�)����
�
������
�∗+∀��∀
���
�����
�&�������������
�%����
��
�����������
����
���
������
������
���∋ � �
��%�&�������
������,
���
�����
�
!�������
���
���������
������−	������������������	���������
	��
������������
����
��+∃��.������∗+��/��0����
�∀
�������∋��	����������������&����������%��
�
���)���	������
������������
��
��%�&��	��
	��		�
���
����−%∀�����	��	
��
�
����
��
��
�.
1230�.����
���4��5%��
4�6!7���������0∋
5�������
�������
����������	���������������
�����%�&��	��
	��		�
��
���
�������#�
���������������
�����������
�8�∀
���
��
����
�2�32����9�:�;2���∋
+����
���������������
	����
��������
	��	��������∃�������
����)����
�����������
����
�6����������	������������%�&��	�∀
�
��,���
�∋�!,���
������	���,

�
�������
��������������
�������
�������
�����������������
	�������	�
��������
∋�

 ���%����!
���(���������
���)∋�������������������� ∗������

∀ ���(���

��	�����
�	�	��������
���	�−���∀��
���
���������	������������������
�	�	���������
�7�����		�	�	�
���&������−�������∀

�
��
�����!�
�∀��������∀��
��#�	�
��	
��������∋�+���	���������������
��.8������
��20�����)����
���
�����	�����
�	∀
�	�������������∃��������
����	��
���������	���	������������
�������������−�������
	��
�
��������������	�	����2<=∗��
����∀
	
�����
�
�!����������
�
��
����
���������>2�?�∗�=≅∋���
�������
�����������������
����)����
����	�	���������
���
∀
������	��	������∃�������
����	� ����	����������	��
������∋�+�	���	�������
�����������	������������
����������	������������∀
������
�
�%����
��
���
��	����������
��&
�����
�∋���������������������
�!��������������������
�������
��	�)�	����������
��
7�
����
		�,��
����	� ����
�.∗:���	�=:Α0�>3�Β≅∋
���������
�����!�
������
����	�)�	���	���
��� �����������
��	�
��#���
	��
�������������
���	�
��
��
∋�Χ������������
��
������
��������
	�
���	�������6������������)����
�����	��������
�������
����	��,���
���∃����		���
������%����
��
∀
	�
����������	��������>∆≅∋
8�����������
	��
�������������
��������
����
������������� ��������
����

�����5
��������
��∋�∋���
����
�����&�����∀
����
�%��
�
��������&		����
���
�−�������
		�������������
∋�5
�����!�
�����������
��#�	�
��	
�������������������
��� ∀
���������� ��������
����������
�5
�������
�
�������	����������
����
��	�����>;�<�2:�22≅∋
+�����&��	���
�������������)���	������
���	����
����	�
���
���∃����		����
����������
����������6��������∋�5
����	
�����∀

�
�8������
������
������
���	
������
��
�!,���
������
�����)���	������
���
�����!�
�∀����������
��#�	�
��	
���������
�
���	�
��∋�+������Χ����
�������
�	������	��
	��	������
�����
��	�����	�
����������	�	�

����������	�
�>2?≅∋

11. CURAC-Jahrestagung, 15.-16. November 2012, Düsseldorf

173



8������
��2Ε��
�����	���������������
����	��
���������	

�������������������
��#�
������������� ��������
����	���
������#�
����������
������
���
��
�����	
��
�)����
�
�
������������	��
���	�
���>2∗�2=�23≅∋�Φ����������
����/������
������������
�������
���
��#�
��������������	����
�−��∀
�����
	�����������!�
�∀�������∀��
��#�	�
��	
��������� �����	��������
����������
����
�)���	������
�	�����������	�
��
����
������
���	�
���
�)����
�����∋�����8�	��
�������
�)�����
���
���
�����
��>2Β≅∋�+���8�	��
������)�����
�∀
��
��������
�
�����������
����	���
�
���
���		���������#�
���������>2∆≅∋
(�����
	������
���	�
��
����������Γ��������
�����������
�����
�#�
�����������������
����	���������
���	����	������
�
�����	
���
�	
�����
��
�)����
���������	���������������
����������
	������
�	� ��������
	Η	���	��
������������
	∀
�����	��	
��
�����
��
��
∋�

& )��
�
��

8���#��
��������
���&���������
�+∃�∀+���
	&���
�.������∗+��/��0����
�%����
��
���	��
	�����+Η	�
�����	���
�∀
	��
���������
���������
	��
�����
�&�����������.
130������
��∋�+��	���
����������
�!������������
���

������,
���∀

�����
�!�		��
���
�.∆:�!�		��
����Ι��!�����0���������
����	���������
���	������ϑ�
�������Κ����
����	����	�����
∀
��
��
����������	��	���&�������∋�+����������������������
���
	�	����	
�&����.8������
��?0������
�
�
���
�����������
�
∃�����
�������������
�������
��
����������

�
�
�+���
	&��������!������������
������������
� ��������
���
����∀
	�
�.����
���4��5%��
4�6!7���������0∋�+���������������
�!�		��
���������
��
����� ��������
		������������������
��
��������)���	������
��
����
����
�)�����
���
��������
����∋�(���)���	������
������
��
�����	
���)�����
���
�����	�∀
���������	�����	�������)�����
���
����.���)���	������
�		���
�0�������
	���∋�+�	�∃������
��
�	���
�����������
��
��
∀
������������
�∃������
	���	�����%����
��
∋
 �
��!�
�������
�	�)�����
�	���
�	������
	����	
�&�����������
������������
	�����	��	
��
�����
��
��
���
&
�	��
��
��)���	������
�������
����������
��
�&��������������
��������∋�+�
�
����������
�#�
��������	��		�
��
�����Ι���
�
��
���
�
�!�		��
��∋�+������������	�%��
���	����������������
���������
�������������
�!�		��
�����������
������8�∀
	��
���������������
�!�		��
������ ��������
	��
�����������	�
∋�7���Ι���
�!�		��
�������������8����
��
���
�!��∀
�������
����������∋
8
�Ι�����������
���
�&���������
�����!�		�
��
������!�������������∋��	��������������Ι�����+��
���
����
����
���� �
)���	������
���������&
�������%�	����
���	�)�����
�	���
�	�	������
����
�)�����
���
���
∋�

11. CURAC-Jahrestagung, 15.-16. November 2012, Düsseldorf

174



8������
��?Ε�%�&�����������
�&��������!�
�������	�)�����
�	���
�	

∗ +���(�����

+���!�		��
����������
���&��������
���
	�	����	
�&���
����Λ�
�	�
�����������	��
����� ��������
		�����������
�������∀
��
∋
�������������
���
�����������
�		�������

��
�
��)����
�
�������	�
������������������
��������
���
��	���
�����������
8�	��
�����	
��
���������
�������������!�		��
�����
�2�3:�9�:�∆3��∋�7�������!�		��
����������
��
���������

���
��
�8�	��
����
�2�33�9�:�;<������������������
∋�5�������
������ϑ�
�������Κ��������
���
��	�2�∗:�9�:�ΒΒ����
����
�	�
2�=2�9�:�3<�������		�
∋
−�
������
�	�
�����
�������
�����	
��
�)����
�
�������	�
������������
������������
��+������
����
�2�=<�9�:�∆=���
���	
��
�!�		��
����
���������������
�������%�
����
��2�3=�9�:�;∆�������������
��������∋
+���∃������
�����������!�		�
��
���
�	��
�&���	���������������	��������
����
���	
���������	
��
���
�!����������
�����
��
���
�
�!�		���
��&
��
Ε

�
�&����2 �
�&����? �
�&����∗ �
�&����= �
�&����3
!�		�
��2 2�:∆ 2�?Β 2�;; :�;= 2�;2
!�		�
��? :�;∆ 2�3∗ 2�Β: ?�3< 2�;∗
!�		�
��∗ :�<2 :�;; ?�2∆ 2�:Β ?�∗<

��������
�	�
�����
��������!�		�
��
��������������������8�	��
������	
��
��������!�		��
����
�������������%�
���
2�32�9�:�;2��∋

, −���������

7�������(�����&		������������
������������
� ��������
���������
����	�#�	�
��		
�&���	������
��
����������
��
���	�∀

��
��
�8����
��
��
����	
��
������
��
�������	��
�����
��
����������
�%�
���
��
���
���#�,Λ�
���
�
����
�2�2���	�
∗��������
��
�>2;�2Β≅∋�+��������
�		���
	������
���	�
��
��������
���
��#�
��������������
������������
� ��������
�
�����������
��������
���������
�
��
�������
�����	
����)����
�
���	�#�	�
��		
�&���	��
�	���
��∋�8�
����������
��
��	���������
���	��
����	����	�����
��
��
����������	��	���

������
������������� ��������
����������������	���
��
��
��
��	����������
∋�+����
���	
���������	
��
���
���
���
�
�!�		���
��&
��
���������
��	
������
	����	
�&�����
��
���
��	
����+∃�∀�+���
	�����Ι���
����
������%�	����
����
���
��)���	������
���	������
�Ι���
���������Λ���������
��
�
��8��&
����������
������
������������
�)���	������
���������>2<≅∋
+����
������������� ��������
�����#��
��������
�+∃�∀+���
	&���
�����������
�	&����
������!,���
��������������
������
	��������
�������
����	��
���������	�
����������
���	�����������������
∋�+����
������������
������
������������
�)���	∀
������
���
�����������
������#�
�����������		�
���������Ι���
������
�	�
�����������
∋�5��)����
����	�����������
�
−�������
���,

���������
	���������
������������
� ��������
�������
����������	�%����
��
��������
��	
���������
��� �
�����������
�
����,��
∋

11. CURAC-Jahrestagung, 15.-16. November 2012, Düsseldorf

175



�������∃�������������
������������
� ��������
�����	�&
������	��	
�,���
���,

��������
���
���
����
�	��������
������∀
��	������
��
�5
	�����
��
�����
���������
������
∋
+���8
��
��
������ ��������
���������
����	��
���������	��	�����
�����������
����
,
���
��∃����
��
��������	���∀

��
��
�&�����
�����������������
��
��!������&������������	
�∋���
�������

���)���	������
����
��
�����������
��
�
�&�����,

����
�(���
�����
�
��������
��
�	
�����
��
�∃���������������
��������
	�
���	������
�	��������
�������
��
���
��
∋

. #���������

>2≅ −�����	����Χ∋��∋�)∋�.2<330∋�(���−�������
	��
�
�����������%����
����
�������
����
��
����������
������
∋�
+���	
���(��
�!�
���
��������������
���?∗��2∀?Β∋

>?≅ +���%�
���#∋�.2<Β20∋�)�����������	������Η���������
����
���
��������
����	�∋�Μ�−���������2<��=?∀=∆∋
>∗≅ Χ�
	�
����Ε�8�����������
��������	��������	������
����
�
�Κ�������
����
���
������
������������
����	�∋

Μ∋�−���������?Β�.2<Β;0�?3:∀?3∗
>=≅ ������� Ε�!�����
����
	��
�����	���������	������Η����������
�����∋�Μ�−���������.�
����������	0�∗3�.2<∆∆0� 23∆∀

23<
>3≅ Φ�	��������8���Η	�����Χ����
���
���ϑ∋�5
����������������
�������

∀���
���������
���������	��������	∋����Μ�

−����!�/������
������2<<;Ε�∗ΒΕ�=?3Ν=?;∋�2;∋
>Β≅ Φ�	��������8���Η	�����Χ����
���
���ϑ∋�5
����������������
�������

∀���
�������	��������	������	������Η��������

��
�����Ε�
���������
�����������������
�������������
������

��
�����
����������������	��
�=<Β���������
	∋����
Μ�−����!�/������
������2<<;Ε�∗ΒΕ�=?<Ν=∗∗∋�

>∆≅ Φ�������#��8��Η����Φϑ�����
���

�Μ��Μ�����
	�%∋����������
������	������
Ι��Η���������
����������������
�����
�����
��		�
���	��������	������	������Η���
�
�Κ����
�������	��������
������	����
�����
�
�Κ��	��	�
��
�������∀
�		�	����	�����Η∋�5
��Μ�−����!�/������
�����∋�?:2?�Μ�
Ο=2.20Ε∆<∀;Β∋������?:22�����2Β∋

>;≅ #�����
�� 6���
������8��Χ�������� �)�Ι�	 ��� �6��� �+� �ϑ�������Φ���
�������	�
�)Ε�6�������∀�		�	��� �
	�
�
���Η���
�
	���
���
�����
�����������	���������
�����������������Η∋�%��	��)�
�
	��������22:Ε2=2∆�2=?<� �
?::?

><≅ �
�������	�
 � )� � #�����
� �  6� � �
����� � 8� � �
��
 � )� � −���
 � Μ�Ε �  ��������
∀������ � ��	�
���
 � �� �
���������
������� � Ι��
� � �
�Η��	�	 � �������	 � 	����Η � �
 � 	���� � ��	� � 	�����Η∋ � Μ � −��� � !�/������
 � ���� �
Β:Ε2?∆3�2?;∗�2:∋2:3∗ΠΙ��	∋?::?∋∗3∆?=��?::?

>2:≅ �
�������	�
 � )� � #�����
� �  6� � �
���
 � )� � #������ � )� � (������

 � 6��
����� �8Ε �  ��������
∀����� �
��
�
	���
���
 � �� � ������ � ������� � ���� � �
� � ����� � 
�
���� � �
 � 
��
��∀��/������
��� � ��
�
	���
���
∋ � 5
Ι��Η �
∗3Ε<33�<Β?��2:∋2:2ΒΠΙ∋�
Ι��Η∋?::=∋:Β∋::3��?::=

>22≅ Χ������∀!�Ι��������
��
�)���
�������	�
�)��#�����
�� 6���
������8Ε� ��������
�����/������
����	�����Η�
�	�
���������������	∋�Φ�����Μ������?<Ε�23∗:�23∗;��2:∋2::∆Π	::?Β;∀::3∀�::<2∀:��?::3

>2?≅ �
������8��#�����
�� ∀6�� ����	�!���
�,
�)���
�����
��)���
�������	�
�)Ε�5
�������������8

���
Η��� �
 �
∀�
��	��� �)���	������
 � �
 �6������� �8		�	��� �6��
����/����∀��
��� � ������Η∋ ������
� �#����
ΗΕ �68)�� �
6��������8		�	����)�������Η��
��������Η����	�������?::2

>2∗≅ �
������ � Μ� �Φ��
�� � Μ� � �����
	�� �8Ε � )���	������
 � �

���
Η � �
� � ���
��
������Η � �� � ��	��∀����
��� � 	����
� �
���
��
�∋�6������8����������∆Ε�?;=�?<:��2:∋2::?Π��	∋2::3∗��?::?

>2=≅ Χ�����

�Μ��Φ�	��
������6��ϑ���
���6��������+��)��
�����Ε�∃��������
����∗+∀��	���	����
������	������
���� �
�����∀�������
��
����/������
����	�����Η∋�Μ�6��
����/������
������∗∗Ε�2∗�2;��2:∋2:2ΒΠΙ∋Ι
�	∋?::=∋2:∋::2� �
?::3

>23≅ Χ���Η��!��!����Η�6��Φ�����+)��+���
�!����
�����Ε�8�
������	�
����
�������∀������	�����Η�����	������
�
������	������
��	
���
�	�
�	�	�����Η∋�8��Μ�)��
���?:Ε�=;�3?��?::Β

>2Β≅ ϑ������	�Χ���!�		����%��−�����	���Μ8��(�����
�)8������
�	�)��#�������Φ��!������	�7Ε�6������	�
����
�������
������	������
�������	�����	����
���
��������
��
�
��
��∀��/������
����	�����Η∋�Μ�6��
����/������
� ����∋�
?::;�!��Ο∗Β.?0Ε2:<∀2Β∋������?::;�7���2=∋

>2∆≅ ����	
����� 6� ����	� �8� �!������	 �7� �(���

�Φ� �−�����	�� � Μ8� �#�&�� ��Φ� �ϑ�����	 �Χ�∋ �%��
�∀��∀���
� �
����	������
 ����� ���
������∀��/�����Η � 	���
� � �
 � ���
 ��
� �
��	�� � Ι�����	����
∋ ����������
 ��� � ����	������
 �
�

���
Η�����
�������∀������	�����Η����������
�����∋�Μ�6��
����/������
�����∋�?:22� ���2:∋�>��������������
���
�≅

>2;≅ !�������!6��)�����8��Χ������∀!�Ι�������%����8!������
���Ε�6������	�
����=�����	������
�	��������	���� �

�������∀��������/������
����	�����Η∋�−�����Η
����Χ���� �
�������2∗∆Ε�<∗�<<��?::∆

>2<≅ Φ����

�#�������
���)�������)Ε������	��
����������
�����
���
������∀�������
��
����/������
����	�����Η∋�
−���������−����!���−����%������−����)�������
����2:∆Ε∆:2�∆23��?::<

11. CURAC-Jahrestagung, 15.-16. November 2012, Düsseldorf

176




